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S ZeHS
M ZoHs HESXHYH 24
ol ZoHE HHSXMEQ} TN 2 (o9l 22l)
SA - B - GI(3H) - NISAIR - BAS Ol &k e fimE==l
Otz 6,780
—=AH| 100,000 »3CH = 12& 3,600
—Z=D| 45,0003 «3CH* 123 1,620
—dldl 25,0003 =20+ 122 600
—3J|EFD| 40,000 *2CH* 122 960
Ozels4| 5,640
—RO0IHHIAAE 140,000 =123 1,680
—SHHSIHEH =52 242
70,0003 128 840
—s&0| |2 120,000 =123 1,440
—A8AE ZE 140,000 =123 1,680
02 2323l 5,258 10,408 25,150
Olatg selz 5,500 11 2128 66
OSZLI| HIIEA =2
130,000& *13] 130
OsZ)| HI&dE)| 0l8&
6,000& * 128 7?2
OS At HWHE)| A=Y 90,000 = 11CH 990
OsdESKIHE RXIYI 2,000
O= g2RE =X 2,000
401 AIEHIZ L0 26,502 26,502
01 Al&Hl 26,502 26,502
OSAL == SA 19,745
O=Z&Y &3 S SAt 6,757
405 HaHESHI 5,350 1,500 3,850
01 ML SEFHSHI 5,350 1,500 3,850
OYRE AIRIF 5,350
— AR oIX 216,000 =34 648
—0lS4 M& 145,000 =44 580
— AR A 222,000 * 174 222
—3|28 oIkt 250,000& * 124 3,000
—3|2|E HI0I2 450,000 x20H4 900
folsdl 25 g9 24 21,375 19,961 1,414
101 @1244] 19,975 18,561 1,414
M I1RIMZ2EXSES 19,975 18,561 1,414
Ogat eliy| 18,775
—olAd| 34,0503 *4ZH*100 13,620
—F - El=Y 34,0503 x4 24 3,269
—UAZREZ 16,888,8002!*4 . 5% 760
—=0AAREZ 16,888,8002!*3.545% 599
—LoAQUYREZ
598,710&%12.81% 7
—1NEEE 16,888,8002! *1.75% 2%
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